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Fr5o00IFLY 0.01_ma/LELF = <(EETRIERR) - = - o - = - o - - - o
1,3-U50070~Y 0.002 mg/LLLF = <(EETRIERR) - = - o - = - o - - - o
KBy 0.01_ma/LELF = <(EETRIERR) - = - o - = - o - - - o
1,4-94%Y 0.05 mg/LULF = <(EETRIERR) - = - o - = - o - - - o
FSL 0.006 mg/LLLF = <(EETRIERR) - = - o - = - o - - - o
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FJZOOTFLY 0.01_ma/LELF E <(ER TRIERE) - - - o - - - o = B = o
Fr5o00IFLY 0.01_ma/LEIF E <(ER TRIERE) - - - o - - - o = B = o
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FOSL 0.006 mg/LLLF E <(ER TRIERE) - - - o - - - o = B = o
IRIY 0.003 mg/LLF E <(ER TRIERE) - - - o - - - o = B = o
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KO OL TKHREEEAE: M6 F4R &Y 0.5mg/L(REFHE0.3mg/L)HS 0.2mg/L ICBIE
HTKRIBEE  BF14F4A LY 0.05mg/L 75 0.02mg/L ICEHIE




